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Model Test Paper-1

SUBJECT - APPLIED PHYSICS -I COURSE- POLY(ME/CE/EE/CS) IST SEM
Max. M-50 TIME-2:30 HRS
Min. M -17

Note-Attempt all questions.

(i) Students are advised to specially check the Numerical Data of questions. paper in both versions If
there is any difference in Hindi Translation any question, the students should answer the questions
accorging to English version.

(ii) use of pager and mobile phone by students is not allowed.
Q-1 Attempt any ten parts. Each parts having 1 marks. (10*1=10)

(i)Write one physical quantity having dimensionless.

(ii) Write the dimension formula of gravitational constant.

(iii) Write the relation between Linear velocity and Angular velocity.
(iv) How many horse power in one watt?

(v) Write relation between moment of inertia and radius of gyration.
(vi) What do you mean by centripetal force.

(vii) Write the formula of Newton law of gravitational.

(viii) What will be the value of weight at center of earth?

(ix) Write unit of stress.

(x) In isothermal process which remains constant?

(xi) Write one example of centrifuge.

(xii) Write one example of centripetal force.

Q-2 Attempt any five parts.Each parts having 2 marks(5*2=10)

(i) Write first law of thermodynamics.

(ii) Write principle of homogeneity.



(i) x=at+bt*+ct>+dt* find dimension of a,b, ¢ and d where x is displacement.
(iv) Write hooke law.

(v) What do you mean bu torque? Write its uses .

(vi) Write advantages of Dimenions analysis.

(vii) What is Geostationary satellite?

Q-3 Attempt any twoparts.Each parts having 5 marks (5*2=10)
(i) Write short notes on different type of Error.

(ii) Write short notes on Fly wheel.

(iii) A body of mass 5kg is rotating in a circular path of radius 0.3m. at a rate of 10 r.p.s. Calculate
linear velocity of body.

Q-4 Attempt any twoparts.Each parts having 5 marks (5*2=10)
(i)Using stoke law find the terminal velocity.

(ii) Write keepler law of planetary motion.

(iii) Derive the relation between Linear velocity and Angular velocity.

Q-5 Attempt any twoparts.Each parts having 5 marks(5*2=10)

(i)Write short notes on mode of Heat transformation.

(ii) Error in measurement in mass of cube is 3% and error in each length of a cube is 2%. Find the
maximum % error in density of a cube.

(iii) state and prove work energy theorem.
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